log AY/Y)

log (Y/AY)

CIELABU3 standard lightness I*
I* Ync YW nc— =100,

I GiELABUs BO (YY) Y201 (¥,=18, Y, /100<Y<=Y, )
I*\(3,6)=23,* ,(18)=50,1*\,,(90)=111

* 6¢=110, sav—z 0, 11/—1/2 0=0,50
I*16=50,00 S=4 78

- i

*36=22,74.] _so oo wg_ls

log[I*/I* J=0, m,=0,49

Iog(AY) CIELABu3

AY tristimulus val_ue difference

Yoc=Yw nc=100,
I* GiELABUs =BOY/Y) Y2 %1 (¥,=18, Y, /100<Y<=Y, )
log(dY) = (1/2,0) log[2,0¢,/49)] + [1-(1/2,0)] logY¥)

application
range
1y,=18
Yn=3,6 3 Yw=90

CIELABuU3

_ tristimulus value sensitivity
SOV Yoc=Yw - nc=100,
I* CiELABUs =BOY/Y) Y201 (¥,=18, Y, /100<Y<=Y, )
log(dY/Y)= log[2,0(Y,/49)] - (1/2,0) log{/Y,,)
= (1/2,0) log[2,0¢,/49)] - (1/2,0) log{)

log(dY/Y)-0,64 my=-0,49" < ~
Sy
=50, dY,=4,06 dY,/Y,=0,2257 1" :\Jf”ge
(dY/Y}¢=0,1009=2.0, 14=1/2,4=0,50
(dY/Y)g=0,2257 §=49,21, D,=0,78
(dY/Y} 6=0,5036 Y,=18, dY=4,06
1Y,=18
YN=36  § Yy=90

application

CIELABuU3

tristimulus value contrast
Yac=Yw - nc=100,

I* CiELABUS ZBOMY/Y) Y201 (¥,=18, Y, /100<Y<=Y, )
log(Y/dY)= — log[2,0/,,/49)] + (1/2,0) log{/Y,)

= - (1/2,0) log[2,0¢,,/49)] + (1/2,0) logy)

C,=(Y/AY)

=50, dY,=4,06 Y,/dY,=4

(Y/dYyi=9 ©5,y=2,0, 1x/=1/2,o:®,50
(Y/dYY 44,42 §=49,21 D,=0,78
(Y/d 561,98 Y,=18, dYJ =4,06 1

'v,=18

YN=36 | Yw=90 |

Iog(AY/AY )

i/l CIELABUS relative standard lightness I*/I* ,

I Yoc=Yw =100,

I CiELABUg B0 (YY) 201 (Y,=18, Y,/ 100<Y<=Y,)
I*\(3,6)=23,1* ,(18)=50,I* ,/(90)=111

tagl =2, 21 y—2 0, 11/—1/2 0=0,50
g D,=0,78
[/ =o 45 7 =50 oo =18

log[i* /1 u]:o m,=0,49

Yn=3.6  Yyw=90

CIELABuUS relative
AYIAY, tristimulus value difference

Yoe=Yw - nc=100,

I CiELABUa B0 (YY) Y201 (Y,=18, Y,/ 100Y<=Y,)
log(dY/dY,) = [1-(1/2,0)] log¥/Y,,)

dYey/dY,=2,23,y=2,0, 11/—1/20 0,50
dY,¢/dY,=1,0 §=49,21 D,=0,78
dYs gdY,=0,44 Y,=18, dY=4,06

log [AYY) I (AYIY),]

YN=3.6  Yw=90

CIELABUS3 relative
tistimulus value sensitivit;

SIS =@YMIAYNY), D S P oY

I CiELABUa B0 (YY) 201 (Y718, Y,/ 100Y<=Y, )

logl(@Y/M)/(AY/Y)] = - (1/2,0) log¥/Y,,)

(dY/Ybo’\JV/YL =0,44,y=2,0 D 1!/—1/2 0=0,50
@dY/Yyg(dYr =1
@YYy g@YNYi=e S application

log[(dY/Y)(dY/Y),]=0, mu=—0,49

I*,=50, dY,=4,06 dY,/Y,=0,2257 |

1y,=18

log [(Y/AY) I (YAY),]

YN=3.6 . Yw=90 .

CIELABuUS relative
CICy=(YIAY)(YIAY), '{I(S[In;l.\j\l/us value contrast

=100,

I CiELABUa B0 (YY) 201 (¥,=18, Y,/ 100<Y<=Y, )
logI(Y/dY)/(Y/dY),] = (1/2,0) loglY/Y,)

(Y/dYyo/(Y/dY)=2,23,y=2,0, 1=1/2,0=0,50
(Y/dY)g/(Y/dY)=1,00 §=49,21 D,=0,78
(YIdY}, f/(Y/dY)=0,44 Y,=18, dY=4,06

log[(Y/dY)(Y/dY),]=0, m,=0,49

application
range

Y,=18

Yy=90




